

Divide by 10^{-3} (H)

Find each quotient.

$$5 \div 10^{-3} =$$

$$89 \div 10^{-3} =$$

$$19 \div 10^{-3} =$$

$$86 \div 10^{-3} =$$

$$57 \div 10^{-3} =$$

$$16 \div 10^{-3} =$$

$$5 \div 10^{-3} =$$

$$20 \div 10^{-3} =$$

$$55 \div 10^{-3} =$$

$$49 \div 10^{-3} =$$

$$22 \div 10^{-3} =$$

$$17 \div 10^{-3} =$$

$$82 \div 10^{-3} =$$

$$35 \div 10^{-3} =$$

$$14 \div 10^{-3} =$$

$$1 \div 10^{-3} =$$

$$1 \div 10^{-3} =$$

$$67 \div 10^{-3} =$$

$$99 \div 10^{-3} =$$

$$76 \div 10^{-3} =$$